W E

ERELEBAR

R z
5
£

]

AA
i
IET
Bp
sk




regp
&

= 1
" - = & FE @
aE5 L AR A $=1:500
BHRHE
BwmE AEHT
NO. 0~NO. 10+19. 22 (E. P) [—BRL]
== =) — — =
FEASEES LA XM (B=11.0[6.0Im) L=219.22m A
£ #ET = BmERE (B=7.05. 5]m)
+%#] L=2. 60n| [600 % 600 K960 THUEAT L=4.00n [~ L] i
BEOENH (—RA) A
3SMWET 2 IBRBITMRBT 2-0BTBITHBTL _(8)300 x (H)400~820 2-35HBITMBT  (8)300x (H) 300~400 : r
BOX- (8300 x (H) 300 FB, 300 x ‘:msao~s71 ‘ L=47. 64m L[=39.61m
BT L A RS L=1.40m L=15.92n
WAIEM (H=1100) (=84 50n 2 1SLBERT 2281 BERT
‘ L=15.92m ‘ L=87.21m ‘
SEMBRIO Y Y 1593700 ‘ ‘ SEEHR IO Y Y  L=101.50m
H
=
ML
8 i N
= TT
5 & — ——
q . ===
I " E E 8
250 # o 2 e e e
- LE 2 H = 8
sllS5 o i — o — —— — — g~ 15— = — ———
d33a § = = giglsl . -
Hig §§;E o e g R S S - 4
e xR = = = =
Wyl B 5 —
— ol "
H
8 o R
&
®
4 PP —
1
I
- g
g 5
g =
z B
g £l
g H
S £l
% ¥, LR
X ANRNNRRARAARNNRANANARRRRARARNN RN AN
B | %, k., i
n IBLEEET 184120 i
T
< g 0
7
ISTBTHAET  (B)300x (300~520 =84 00n :
HKIEESEAT BIER L=8].9n SERBTEAT  (8)300x H)400~970 L=107.57n
80X /b/3— K (B)400 % () 400
L=20.50m 4smET !
TABAKI MIREET (=12.000 IS8T BOK-(B)300x (M1300  |{BM#T e D
P JL/S— b (8)6, 000 x () 1, 500 500 % 600 % 1000 L=1.30m 00 x 600 x 770 0.
/REL 30295 053 T 102650 061 30382 500
20y ISERT S ERT L=3.76m
BOX L /3— - (B)600 % (1400 BOXA JL 73— F (8)300 % (M) 300
L=12.00m L=12. 50m
FOKBBIET| HHLMEEEET| EHT BE +
L=2.00m 2.0 (-HBL)
Bt BIME - HIAT J[=+f2ﬁ§§
+ L=4.00m
. [ '
BlERE "
[-&RL]
. : : AW
T S 5 5 3
FAEME R FEME R RN E R Z % [ ® %
= n
(RETK B3 51 X ) BEKTY 1 —LKRM) (—#%48) xazen] 2
EIRHKE KEET EIRKE KEET T RABT | i
\/I0ERERAR] | 2REHKE | 1/I0ERERAR ] 12 REHKE N
[ 14.60 ha 11000 i @R 14.60 ha N
# | 0599 m/s | 0.433 m/s H® | 0599 m/s | 0433 m/s 11000
® | 1209 m/s | 1.119 w/s 8500 BB | 1.200 m/s | 1119 /s
F | 05 m | 045 m KR | 05 m | 045 m
& 7550 | AN X3 7550 3000 1250
H | {H=1100 | 150
1000, 200 1260 200 :{ SEERRTO Y 1000 200800 b -
o0 2 2o ‘ SLE 2 o0s
LY L A T ] 9"';”‘314‘ 4 | S
: = ]ﬁ# il % T S S 5% EEBLERRRZIOSTE
BRI L _—— \ {
L e : N Lk
. (= b _t=100 - B & & AEFER
ke =i BBk ® B T (EHE AC0FA t= en
Bril Y 5 — ® B T (HHME AC2FA) t= bow HF-B900 x H600 (/2 21) Bty 58— £ M T (EHE AC2FA) Mt .
RIS | Lt L 1588 e T EBST (HERE 130 t-100m -
L 9500 | [FEEEL EEREE® i T | 4500 | [EFEEI mEEE v 10 pEEBRT WRRA VA0t AR %% 5% 48 A
AB2S AR 5 — TEBBT (BEH5rv1-3 RC-40)  t=20cm AB2S KB 5 — TRBHT (BEHvr-5 RO-40)  t=20cm [ERREE Bty 4D (o ® R 1:500 ‘@iﬁ%‘ 1
I (=& CBRIS%BLE) t=05
HEI (BEBHE A t=3on B B T (RRMIE CBRIS%LLE) t=95en SEI (BLEHE D 1= don B B T (R CBRIS%EL) t-d5m B R T (REME Sk) t=95em
5 = PN
BB (FHE)591-5 RC40) t=10om BET (@) RG-40) t=10cm [REL (BEBHE ACID)  t= Son ELE
BET (HE) RC-40) t=10cm
BEEL A E H

sy

102205

295
o,
049y



@t

11000

2500

scho

1250 3000

3000

2.00%

BRRTOY Y

2,004 ‘ 2 -
] - _®me=s» 4
]

EEL (BEEHE ACI3)
BT (F%)5971-57 RC-40) t=10om

ﬁmiM;

;=]

t= 3em

11000

FH=34. 900

® B T (EHE AC20FA) t= Som

10cm
200m
B B T (REMIE CBRIS%ALLE) t=95cm

z 00%

2500

1250

3000

CyorBE
3000

SEERRTO VY

2.00%

|| B T S

FH=34. 640

DL=33. 00

B 58 0B R T 3k 3 ) !
BOX- (8900 x () 900 990,

11000

FH=34. 880

2500

1250

3000

3000 1250

DL=33. 00
FH=34. 32311

LEMIZA&2#HF7KE§
BItv8—(3

00014 : 200900_ 504

11000

2008 BT £ B 1
0

3000

3000 1250 5 i35

EHEF IOy
2.00%

HF-B900 x H600 (% 5 &)

=
B

DL=33.00

iimi: vyy—=

THEGER

t=10cm

9500

FH=35. 200

® B T (EHE AC20FA) t= Som

L LESR
#KFH=34.319 ‘
AR A2 Sk

BTt 5 — (RlEiE)

RET (BEBHE ACI3)  t= 3on

BRI (&I

RC-40) t=10cm

‘ LREBET CHARE N-30) t=10cm
TEHSBT (BE)5
B B T (REMIE CBRIS%LLE) t=95cm

RC-40)

20em

=

1M

=tEL
"o

BiET

BERET

EAEAEAEAERE

RENET
EE)-

3

2B I

3

FRBBT

ik

|® [FrmaT
ELES

LEES

K #
# R

EEEE]E

1M

=tEL

W

Bkt

BRRET

REQET

@)+

BT

LREBET

TREST

2B I

LEES

K #
2 R

3|33 [3[3[3[3[3[3[3[3[3]3]3

SEi| B | B

E MM

3

RELRL

3.

' A

3.

BiE:

BEERET

REQET

@)+

3[3(3[3]3

xBEI

FRBBT

TREST

SEi| ES | BB
=®
B
H
EIEAERERE

E MM

3

RELRL

303

"o

Bkt

3.

BAREL

3.

RENET

EE)-

ENERER

2B I

FRBBT

TREST

BT

B®T

R

S| S | BB

33333

7 R

0.8
0.1

NO. 5~BC. 1

I%4d

EEBLERURENS IS

FTEIHE AT E B (NO. 3)

#M s& 48 B8

14100 ‘@i%%‘ 6 @/5)

A E H

2022/09



1600

HEHESLAR

IRISITAET - LB ERE T RRE

Sv=1:25, $h=1:200

= = E 1= Su=1:25
1 ’?iﬁiﬁﬂ-ﬁ“lﬁl 1 ’?#ﬁ%lggﬁ Sh=1:200
[ ) @
5 L 5
U o ) o ﬁ \Q;‘\@ X
G
TBBBITMAT  (B)300x H300~520 L=84. 00n
80520 3480 ‘
34070 . 46450 _m@avoy—t
[t=0. 10m
(135779 FH=35. 748 FH=35. 714 FH=15. 681 FH=35. 643 FH<35. 600
FH=35. 648
[ ABEWE 3 61
FH=35.300 FH=35.310
= FH=35. 190 FH=35. 240 FH=35.290
2l ® FHi=35. 090 FH=35. 140 _ 17400 /
sl © s 3518 /
L
32580 3540
H=1300% L=16.00m H=1200% L=32. 00n H=1100%  L=36.12n
IBLEHET =84 12n
= =] E Y= $v=1:25
Zﬁiﬁiﬁﬂ-@“lﬁl Zﬁﬁglgﬁﬁ@ Sh=1:200
D) 0 0
K3 3 0 o o
) ) Ly A \L A k) A 9 A A
X ﬁ W ﬁ ® 3 ® ®
2- 1S WBITHET AT 20BTBITRIET (5300 (H)400~820 L=47.64n 2-35WBITEHAT  (8)300x (H)300~400 L=39.61n
(®)300 % (H)830~870 T
L=15.02m 300/ 800 (—#458)
L=4.00n 4000 43640 31480 8130
FH=35. 560 Fi-35. 555 35531
FH=35.513
FH=35. 536 - FHE5.467 P35, 440 Fii-35.419 FH=35.380
= FH=35. 528 FH=35. 371 FH=35.343 FH=35. 349 =
b = a5t
LR ‘ I ABEUE 3519
ol 2 o 8 gl 2 FH=34. 840 FH=34. 870 FH=34. 890 s
g = | = ° mEE 34,94 2 8l s
FH=34. 620 g s 5 8 g 8 g 8 A - Se g ES g 2
o = Hel g = - 7 - o —
) FH=34. 740 Fli=34.770 FH=34. 790
FH=34. 640 A FH=34. 670 H=34. §90
FH=34. 670 o ]
1 AoAy S AAAMANAL Al
e AAid
9170 8040
H=1600% L=8.00m H=15008 L=7.92m H=1500% L=10.00m H=1400% L=20. 00m H=1300% L=20. 00m H=1200% L=20.00m H=1100% L=17.2im
2ISLEEET L=15.920 225LMEET L=87.2In

1100

EEBLERURENS IS

BHITRET - LRER TR

#M s& 48 B8

& R| % [esss] o
B
X5 A &




_TULECRPLEHE

2.00%

TLFv R b L BGRE
B%47)

BELIIL
3

EESCEAREETREEN B
"’\ E@avoy—t
18-8-40
\—Jﬂ zuns
100] b1 [100. RC-40
b2

SESLAR

IMNEEYMTIRE

(No. 1)

$=1:50,1:25

TLFr X+ LEEE B4 )

+ & (mm) # fad ® 10.00m% Y
2o P 5 o | b2 seps | xeng [xay] x = |#Eisa] Lugpe
) () G} (@) ) w
H1500% 1500 1200 1400 1600 16.00 2.00 1.400 1.400 0.360 10.00
H1600% 1600 1300 1500 1700 17.00 2.00 1.500 1.500 0.390 10.00

5% BERBLERYATOSIH
T4 IMBETIRAE (o, 1)
trEAE 4 55 48 8

#® R 1:50,1:25 ‘ HEES ‘ 34 (1/5)
N

BREL

A E H




4800

AEESLER INEEY T IEHE

(NO 4) $=1:25

WART $=1:25
FEE
1600
. L1 ‘
BABIREHHER 107 EEY
% B EES L B P
2 1:4.0 Bt (4.00+4.80) x 1/2x0,40x 1/2x 1.60=1. 408 141w
N AEELE 0.40% 1. 414 1/2x 1.60x 2=0. 905 0.91
[T :
fIE R

1600

S

400

i34 EEBLERUREOSTE
@s MR TIRER (o )
#mEAE s+ 5% 48 8

w R| 125 ‘ EEES ‘ 3 ws
P

BREL A E H




avoy—+t

18-8-40

1000 (1)

SESLAR

IMNEEYMTIRE

(No. 5)

$=1:25

925 (F#9)

R6-40 I
500
6401 — 141
2-1ERGITREIRE 10.00m2 Y

e " # B P

ARBRE RC-40, t=15¢cm 0.50x 10. 00=5. 000 500 m

2 7 sHHED 1.00% 2% 10.00=20. 000 2.0 o

wER sHHED 0.45x1.00-0.30 0. 85=0. 195 0.20 w

EPZPE 18-8-40 (0.45x1.00-0.30 x0. 85) x 10 00=1.950 195 o %4 BEASLERUREOSTE

x = RIGWEN 2Ly - FERBE 195 n M TER (No.5)

T 153999745~ t=10m | 0.45x1.00-0.30%0.85=0. 135 0.20 w

KR CF-150 0.375+0,925=1.300 130 n frsAE M e%® 4R H
#® R 1:25 ‘ HEES ‘ 38 (5/5)
B
BEEL A &




250

270

&

+ /G = W,
* HEELER m:l:"iu L/ BE%%EE ﬁ-l-FEISFE $=1:500
AEH
NO. 0~N0. 10+19. 22 (E. P)
FEEEEE LMK HEXRM (B=11.0[6.0Im) L=219.22m Ak BEASEE AR KB EXM
(B=7.0[5. 5Im)
BE LA ARER

AERR

11004

BE b

4,

i,

BEE%/k O Rl

RUKOI(MB0

vz

o,

EERER i
CoRtBEEREE L (1) L=84. 20m CoBXBEEREE L (2) L=102.60m <an 5 Toe
30187 624 102872120
0402 496 102674 039
[ voesz0 544 | 30295953 T 102860_ 964 30352509
+
A o
& # & 5
KA (ER) A
HOT(#R) v
BABT X
B#kAT
BEnaT
RS A B
I%% BEFLLERYRETOSTSE
H&Ea B LREREE G EYER
HREAR Q4 3411A8 8
#® R 1:500 ‘ HEES ‘ 42
B #HAA HINaPLEIY
X5 A &
§ 10213, §

gy



HE L REREIE 24K
=HB LR BER U XEZEE Z 150
TEA#XIAZECEFAKE B m X TETE A LR B @ X TEHFEASTFEAR B @ X
B
59
® &%
g 25 5
)c) PS> 5%
A=0. 22m" 850
hog 50100
- # F @34 N o
¢ 4428 35.36 e i | f@@%/_él ﬁf‘ 3 D~
77777777 = W e 1
J \ EEEERCA KBS
Co —
JBF-600 (5 & &t &) f
i TEEBK)
AB2SHOKE [B&FE]
DL=33.00 I2HU— FEHES00 DL=33.00
kB I ®
" (#h Z& £ H298-1)
CoB$BEHRIZ L (1)  BAkOMEZEST
[BKOMEESH T
*’7‘%&
X@E 2
i F LM
R8s 35.39
CoBEB¥ERIE L (2)
55k
(®150)
EE 2 5
# & LM ©
B#Es 35.39
avyy—tHY (B
RU WET A1
aAvy =t 21-12-25 !
|
Br @ X o
!
r*{ﬁ
75& @\@;
avy ) —tHY (B 2
RU ®IBT
Vo Y-k 20-12-25 ’(‘”j;‘;;q
XE 2 i
& Lm0 - 54 EEBLERRREOSTE
T BE s HEHLEERE RER
N\ #REAR 4% s& 48 8
i BERSRCAIK
@ R| 150 ‘EES%‘ 5
Vﬂﬁ((ﬁ\?ﬂ B
=0.1m
o BREL A @ B




